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Q.1. Fill in the blanks.             ( 10 Marks ) 

    1. The total amount of a liquid that can be hold in a container is called as _________. 

    2. In division, the number which we divide is called the _________. 

    3.The answer of division is _________. 

    4. 4 l 170 ml = _________ ml 

    5. To make ₹ 5 we need _________ coins of 50 paise. 

    6. 0 ÷ any number = _________. 

    7. ₹ _________ + ₹ 70 = ₹ 210 

    8. _________ x Quotient = Dividend 

    9. _________ paise makes 1 Rupee. 

    10. 3 l = _________ ml 

Q.2. Solve the following. (Any 5)              ( 10 Marks ) 

   1. Write the suitable unit to measure each of the following: 

 a. Medicine in a syringe -  

 b. Water in a storage tank -    

   2. Write two division facts for each of the following: 

 a. 7 x 5 = 35   b. 9 x 8 = 72 

   3. Put the correct symbol: >, <, = 

 a. 10 l      _________ 1000 ml 

 b. 29 l 25 ml  _________ 2925 ml 

   4. Add the following: 

 a. ₹ 51.75 + ₹ 45.50  

   5. Find the difference: 

 a. ₹ 70.50 – ₹ 55.25 

   6. Write the multiplication facts of the following division facts: 

 a. 48 ÷ 4 = 12   b. 72 ÷ 9 = 8 

Q.3. Solve the following. (Any 6)            ( 18 Marks ) 

    1. Convert the units using relation:  1 l = 1000 ml 

 a. 9 l 530 ml = _________ ml. 

 b. 3000 ml = _________ l. 

 c. 1 l 5 ml = _________ ml 

    2. Write how many ml should be added to make it1 litre. 

 a. 350 ml + _________ ml + 210 ml = 1 l. 

 b. 630 ml + 250 ml + _________ ml= 1 l. 

 c. 599 ml + _________ ml = 1 l.  

    3. Divide the following using repeated subtraction method. Write the division fact for it: 

 a. 44 ÷ 11 

    4. Divide and write the dividend, divisor, quotient and remainder: 

 a. 89 ÷ 6 

    5. 250 ml juice is given to each child. How much juice is required for 7 children? 

    6. The product of two numbers is 749. If one of them is 7; find the other. 

    7. Rony purchased a chair in ₹ 375 and a table in ₹ 655. What is the total amount he paid? 

 



 

 

 Q.4. Solve the following. (Any 3)            ( 12 Marks ) 

     1. Arrange in column and add the following  

       a. 251 l 425 ml + 120 l 590 ml    

b. 375 l 450 ml + 356 l 150 ml 

     2. Arrange in column and find the difference. 

     a. 731 l 550 ml – 565 l 250 ml    

b. 425 l 270 ml – 290 l 150 ml       

    3. Draw the notes and coins to show the following amount of money. 

 a. 15 rupees 75 paise 

 b. 70 rupees 50 paise 

    4. Rema has ₹ 45, Sita has ₹ 62 and Shila has ₹ 57. They want to purchase a carom board worth  

         ₹ 275. How much more money they needed to purchase the carom board.    
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